Math 1160A — Exam 2

Name: _ NG

Friday, July 8, 2016
Time: 60 minutes
Instructor: Brittany Cuchta

Instructions:

Do not open the exam until I say you may.

All cell phones and other electronic noisemaking devices must be turned off or completely silenced
(i-e., not on vibrate) for the duration of the exam.

No calculators are allowed on the exam.
The exam must be taken in pencil. Using a pen on the exam will result in the loss of points.
Failure to follow directions specific to a problem will result in the loss of points.

Circle or box your final answer where appropriate. Put your final answer in the provided space
when available. Failure to do so will result in points being deducted.

Show all work. Full credit will only be given if work is shown which fully and clearly justifies
your answer. I reserve the right to not grade a problem which I cannot read.

Answers must be exact (like v/2), not approximate (like 1.414), unless a problem specifically indi-
cates otherwise.

All final answers must be simplified unless otherwise specified. Rationalization is not required
unless otherwise specified.

If you run out of room, use the back of the page and indicate this on the question.

As always, you are expected to exhibit academic integrity during the exam.

Page: 1 2 3 4 Total
Points: 24 32 19 22 97
Score:
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1. (10 points) Find the inverse function 1. State the domain and range of f ! using interval notation.

5
f(m)=—2sin(x+§)+2, L

6
Y= -zsin(x+ )2

X = S\H-\C‘ g‘f)‘%

T
6

2. (8 points) Prove the following identity:

sec(26)=§—%
FHS = <ecx® ) IS Y-~
____2_._. = COSC@ N C052@
L-Sec” @ 2 C?SL;Q 2.Co52© —|

cs* O

)
.
200520 (0s(26) sec(x0) = LHS.

1]
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3. (6 points) Circle true or false for each statement. No partial credit will be given.

(a)  True @ : Since cos (§F) = —, cos™ (—%) =51

(b) True @ :  The domain of the inverse sine function is all real numbers.

()  True : The range of the inverse tangent function is [—1,1].



4. Find the exact value of the following expressions.
(2) (4 points) sin~* [sm(a")] 2W
= 5 \Y\_' (S N ( ) ) Solution: 5

(b) (10 points) cos [tan (—5) sin™t (153)]

X= '}0*2'(-"-3> "S\V\ (T‘)

xe QN <;QP %3_@ s pé QT

Cos( &*J}): Cosmco5{} fsinxsinp

2 T3 5 Tz

- 3b—-20
65 Jo,
:_’_‘b_ Solution: ég
65

(c) (8 points) csc[2-cos™* (3)]

o= 0us( &) A SW(3n)= ASindcos K = a(?‘-‘é—g)(é) . f-\ig?

5 25
fd ’Z\I—W s CSC(ae) = 4T

l A5
xX€ Q I Solution: “! J b

(d) (10 points) sin [cos (3) +esc7t (-2)]

0t =Cos” =} p cscp'( 2,)

x¢ QL 430( ;[@ i;%‘?- e Qm
Z

S w\m—r(&) = SINOLOS b SR Cos e

:‘__.JS.___JS..l. 2. .2
3 3 3 3

- 5"‘4_ __)_ .-L
q - ﬂ Solution: ql
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5. Solve the following equations on the interval [0, 27).
(a) (12 points) cos (6z) + sin® (3z) =0

Cos(a: 3x) + 5% (2) =0

| =251n3(3x) 1SN 2 (3X) =D
F=sSwn?(3x)=0

Swn3(3x) =\

Sin(3x) = 7|
I~ T,
S%= a%c-}Z.kTC - X= T_'iC_‘_ %kTC
k=0 )(:I‘—T =2 x:l":- ST _ 9w
- T‘: s 2 Y0 ° ¢
e~ &
© 4F . SE
R=1: X3+ %
- 3C G Fie
X Z + 7= =

SEE
Solution: l b ) Z-.

(b) (7 points) 2sin (6) +sin (26) =0
2.5mO+2sin@ (6s@ =0

2616 (¥ cos0 ) =0
SINO=0 oL |A(s0=D

@ =012k 8 =T t2RT
Q = TC'ka.rc

Solution: i O ) -\'\.12
U D)
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6. (8 points) Give the general solution to the following:

tan (26) =1
20= —rz ki - T
- { 6=—2+ kv
26 = 4+zkr‘ 8=3F 1k
: - 1T
& 267 +ke —» 6%+ Tk
I ow
Solution: z X*kw ) X =+ km—z
( J
7. Find the exact value of the following. o\ I ")
(a) (8 points) If cscd = —3 and cosd < 0, find cos (£). ﬂ 3T F3 \2'3

sz_@ C.SC_Q:—g—P Sin@:-é‘)QGQI{L

-t 2 o [\+(0s8 ! f g
3 Cos( ’£> = é \/ 2 -
- 3 m—
140 2-2\2)
1% 3
2¢8:+%
- O
FeRL
B \/3-2(71'
Solution: G
(b) (6 points) sm( =) S — — =
T — - o & j— N2
SM(E)=-sin(F)=-sn(L-E)-= - =F -\/-2—;a
23 \E”
4 2
< 2w 2117 T w A 2)
oL sm( Sm( 23 (2 b
/ ) Solution:— - ok L"

==o\n 4 cos G +smb Cos-‘,f—
-—-\]2 F+— 2.___ \IM

2 = 2 B 4 Tomd



